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00 $n$ 000 $(x iy N$SO0000000000000 $n-1$ 00000 $f(x)$00 0 $f(x_i)=y_i$[]
gogd

00 pa781

OO $g_i(x)=y_i\prod_{j\neq i}\frac {x-x_j}{x_i-x_j}$00 O

$$9_i(x_j)= \begin{cases} y i, & j=i\\ 0, & j\neq i \end{cases}$$

gggd

$$f(x)=\sum_{i=1}"n g_i(x)=\sum_{i=1}"ny i\prod_{j\neq i}\frac {x-x_j}{x_i-x_j}\tag{1}$$

O0D0000 $0(n™2)$ 000 $f(k)$0

int x/MAXN|,y MAXN|;
int Lagrange(int n,int k
int ans=0,a,b;
_rep(i,1,n
a=y|[il,b=1;
_rep J » LN
j==1i :
a=1LL*a* (k-x[j!)%Mod;
b=1LL*b* (x[1i]|-x|j|)%Mod;

ans=(ans+1LL*a*inv(b)%Mod)%Mod;

ans%Mod+Mod ) %Mod ;
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000000 $xi$00000000000000000 $0(n)$(]
0 $x i=i$ 0000 $W$0 00

$$f(x)=\sum_{i=1}"ny i\prod_{j\neq i}\frac {x-j}{i-j}=\sum_{i=1}"n (-1)~{n-i}y_i\frac
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{\prod_{j=1}"{i-1}(x-j\prod_{j=i+1}"{n}(x-)) } {(i-1)!(n-i)!} $$
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000000 $0M$s 00000 $\{x-i\}$00000000D0O000O0O0O0O $0(n)$DO00DOODODOO

int inv_frac/MAXN|,y[MAXN|,pre[MAXN|,suf MAXN];
int Lagrange(int x,int n
pre[0]=suf[n+1l]=1;
_rep(i,l,n)prel[il=1LL*preli-1/*(x-1)%Mod;
int i=n;i;i--)sufli/=1LL*suf|[i+1|*(x-1)%Mod;
int ans=0,sign;
_rep(i,1,n
sign=((n-1)&1)7-1:1;
ans=(ans+1LL*sign*y|i | *pre[i-1|%Mod*suf|i+1|%Mod*inv_frac|i-1|%Mod*inv_ frac
n-i!)%Mod;

ans;
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00 $0(M)$ 000000000 $(x iy D$0
0 $g(x)=\prod_{i=1}"n (x-x_i),w_i=\prod_{j\neq i}(x_i-x j)$00 O $(1)$ 0 0 O

$$f(x)=\sum_{i=1}"ny i\prod {j\neq i}\frac {x-x_j}{x_i-x_j}=g(x)\sum_{i=1}"n\frac {y i} {(x-
x_i)w_i}\tag{2}$$

0000000000000 $wisOoOO

int x/MAXN|,y[MAXN!,w|/MAXN!,z;
void Insert(int tx,int ty
wli++z|=1;
Xlzl=tx,ylz]|=ty;
_for(i,1,z
wlil=1LL*w[i]*(x[1i]-x[z])%Mod;
wlz|=1LL*w[z]*(x[z]-x[1])%Mod;

int Lagrange(int k
int g=1,s=0;
_rep(i,1,z
g=1LL*g*(k-x[1])%Mod;
s=(s+1LL*y[i/*inv(1LL*(k-x[i])*w/[1i!%Mod) ) %Mod;

1LL*g*s%Mod+Mod ) %Mod ;
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HEN

0000000000000 0000 $1\simn$0%i,js 000000000 $(i+j)~ks 00O

0000 $n-1$0000000000DOO0O0O0ODOOO0OOOOD

HEN

0000000000000000000000000000 $\frac{2(n-1)}{n(n-1)}=\frac 2n$[]

OD00000000 $\frac 2n\sum _{i=1}"{n-1}\sum_{j=i+1}"n (i+))"k$JO
$f(n)=\sum_{i=1}"{n-1}\sum_{j=i+1}"n (i+))~k$J0 0 OO0 O00O0O $f(n)$[

$$f(n)-f(n-1)=\sum_{i=1}"~{n-1}\sum_{j=i+1}"n (i+j)"~k-\sum_{i=1}"{n-2}\sum_{j=i+1}"~{n-1}
(i+))~k=(2n-1)"k+\sum_{i=1}"{n-2}(i+n)=\sum_{i=n+1}"{2n-1}i"k$$

ooo
$$f(n)= \begin{cases} 0, & n=1 \\\sum_{i=2}"n\sum_{j=i+1}"{2i-1}j"k, & n\gt 1 \end{cases} $$

00 $\sum_{j=i+1}"{2i-1}j"k$ O $k+1$ 0O OO OCOO
$\sum_{i=2}"n\sum_{j=i+1}"{2i-1}j°k$ O $k+2$ 00O OO

000000 $7ksj0 000000000 $f(1),f(2)\cdots f(k+3)$00 000 O0DOOO0O0OO0O0O

Oooooo0 $0(k)so

const int MAXN=1e7+5,MAXV=2e7+10,Mod= ;
int quick pow(int x,int k
int ans=1;
k
k&1)ans=1LL*ans*x%Mod;
x=1LL*x*x%Mod;
k>>=1;

ans;

int prime[MAXV !, kpow MAXV|,cnt;
void Prime(int k
kpow!1!=1;
_for(i,2,MAXV
Ikpow]| i prime|cnt++|=1i,kpow/i/=quick pow(i,k);
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int j=0;j<cnt&&i*prime|j|<MAXV; j++
kpow|i*prime|j | |=1LL*kpow|1i|*kpow prime!j | |%Mod;
i%primelj == ;

int inv[MAXN];

void get inv
inv =1;
_for(i,2,MAXN
inv[i|=1LL*(Mod-Mod/i)*inv | Mod%i |%Mod;

int inv_frac|[MAXN|,y[MAXN|,pre[MAXN|,suf[MAXN|,m;
int Lagrange(int x,int n
pre[0]=suf[n+l]=1;
_rep(i,l,n)prelil=1LL*pre[i-1]*(x-1)%Mod;
int i=n;i;i--)sufl[i|=1LL*suf[i+1]|*(x-1)%Mod;
int ans=0,sign;
_rep(i,1,n
sign=((n-1)&1)7-1:1;
ans=(ans+1LL*sign*y|[i|*pre[i-1|%Mod*suf i+l |%Mod*inv_frac|i-1|%Mod*inv_frac
n-i/)%Mod;

ans;
int main

int n=read int(),k=read int();

Prime(k);get _inv();

inv_frac =1,y =0;
_for(i,1,MAXN)inv_frac|i|=1LL*inv frac[i-1/*inv/[1i|%Mod;
_for(i,1,MAXV)kpow 1i/=(kpow|1i|+kpow i- %Mod ;
for(i,1,MAXN)y[il=(y[i-1]+kpow 2*i-1]-kpow|i])%Mod;
int ans=2LL*Lagrange(n, k+3)*quick pow(n,Mod-2)%Mod;
enter( (ans+Mod)%Mod) ;
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